
2 SOLUTIONS IIAMBWN HMITU's ABITHMETIO.

•< Number Of ouch =. ^-^^
o«o•8.60 + 21.60 ==262.

i. Number = 876x789 + 802= 200287.
rj. 19+ 17 + 16 = 61.

• ^""^ received by first out of $61 = |19.

$86700 = ^5-^^^^-^ ^1^

61

= 700x$19
= $18800.

«

«i
second - «i700x^$l7

61

=-- $11900.
•^

thi-d ^ 85700X |15
61

= $10600.

Vlll.-Page 42.

lastirsirc'^rrr ^"'" "'" '^«

Anth. Co.p. «f 7846= 100OO-784«= 21.4. Art. 4«.
8479= 10000-8479=6521

Difference =4867
Number=a(888+48C7).10}^1225]x4

2.61bs.tea=15,b.eoffee=^«,b,3„g„.

• 7Kii^« * 16x15x8
..751bs.tea=—^— lb,, ^g^^^gon^
8. Number= 18675 + (45209 -27645) =81230.


